Math 1300
Homework 16
Section 4.1

1. Find the greatest common factor (GCF).
35x%, 12x, 2x°
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35x°
None of the above

4.1.4

c*d

C7le

3c*d

21c’d*®

None of the above

4.1.16

2b(4a - 6¢)

4(2ab — 3bc)
4b(2a — 3¢)

b(8a — 12c)

None of the above

4.1.20

-2 (v -w®)

- 2050V —-uPw®)
—2U° L5v° - 2w°)
—-2u° @5V’ -w°)
None of the above

4.1.22

9x® (2x> — 4x +5)
9x® (2x® — 4x? +5X)
9x(2x® — 4x +5)
3x*(6x° -12x +5)
None of the above
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4.1.28

y*z(4x" +35y°z® - 9x?y*7®
xy*z(4x" +35y?z% -9x%y?z?)
2y*z(2x" +35y°z® —9x°y?z%)
x'y*z(4+35y%7® —9x*y?z?
None of the above

4.1.30b
(x+6)x+3
(x+6)*(x+3)

Not factorable.
(x+6)(x+3)

None of the above

4.1.32b
(b-2)(a-c)
(b-2)*(a-c)

Not factorable
(b-2)a-c

None of the above

4.1.42
(x-y)*@+z)

Not factorable
(x-y)3+z
(x-y)3+2)

None of the above

10. 4.1.56

a.

®cooo

Not factorable
(3x-y)*(5x-2)
Bx—y)x-2
Bx-y)5x-2)
None of the above
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